2).

3).

4).

5).

6).

7).

8).

9).

10).

11).

12).

R
'

A

£ &
'

13).

14).

15).

16).

17).

18).

19).

20).

21).

22).

23).

24).

Two/Three-Digit Subtraction

54
34

=
— =

2 &

= &

25). 529
261 -

26). 807

21).: 563

28). 764

29). 837

30). 439

31). 507

32). 716

33). 995

34). 690

35). 674

37).

38).

39).

40).

41).

42).

43).

44).

45).

46).

47).

879
282 -

729
678 -

739

49).

50).

51).

52).

53).

54).

55).

56).

57).

58).

59).



Ink Blots (3-digit Subtraction).

Mr Herrington has spilt some ink over his homework. Can you help him write it out correctly ?

1).

2).

3)

4).

J):

6).

7).

8).

9).

10).

I1).

12).

24

e

124

BE:.

130 E

o

o o
1

354
) $%

=

€

2l

3

340

E..

658
342 -

13)

. 74
R
307

14).

13):

16).

17).

18).

19).

20).

21).

o)

o

)
'

)

=

IIQ
~J
-

IQE&
i e
N

'

875

I:‘
N
~

Er.o‘ o))
O
~J

990

2
w2 N
'

437

22).

23).

24).

<2

739

ke
o 1=

25).

26).

27).

28)

29).

30).

31).

32).

33).

3.

35).

36).

586
P -
29

396
278 -

37).

38).

39). 7

41).

42)

43).

44).

45).

46).

47).

48).

386 -
494

737

468

674
396
61

079

49).

50).

50).

52).

53).

54).

55).

56).

57).

58).

59).

60).

524
279 -
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Did You Hear About ...
3[A B C D

E F

| J K L

(@] P Q R
? 1

Do each exercise and find your answer in the appropriate answer column. Notice the
word under the answer. Write this word in the box containing the letter of the exercise.

Answers A-:

35,155
GO

8,634
NEW

37,655
RUN

599
SYSTEM

548
THE

65,151
CARS

4,812,982
ALL

1,726
WITH

6,088
THAT

2,778
SUBWAY

4,837,982
UNDER

64,551
TRAINS

5,578
BIGGER

®

®©

©

©

704

- 156

4,449 (E)

- 3,850

31681 (H)

— 25,593

$47.29 @

- 9.64

@ 5,280 — 394

@ 10,101 — 6,666

price?

together for $10,000. How much profit did

Answers J-R:
9,017 5,706 3435
- 383 © - 2,928 bN
$728.75
WHEN
8,001 ® 70,360 70,290
- 6,275 - 5,809 GROUND
$2,175
TRACKS
50,000 (1) 9,722,600 $6,480
- 12,345 - 4,909,618 WHEELS
$37.65
OVER
$7050 (L) $800.00 $86.56
— 38.71 — 60.25 THEIR
$34.75
ARQOUND
(N) 71,000 - 710 $739.75
BELOW
(P) $90.05 - $3.49
4,886
Ms. Twinkle bought a car for $15,000. Five years THE
later, she sold the car for $8,350. How much less 6.650
was the selling price than the original purchase sS’UB
Leonardo bought one oil painting for $3,150 and 33#’1?
another for $4,675. Later, he sold both paintings
$31.79
TOWN

Leonardo make?




